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. 'Determme whether the propemes of
exponents are used correcﬂy to sxmphfy

510 .
\ =57 OYes O No
5 . . .
2 (48)3= {}z‘i . OYes 0No
3 10 =Z;%' ;‘Oers ONo
H ,156 - 15° =‘[518 ..OYes ONo
S (8®)=1"] " OYes ONo

(o Simplify the expression
(8°)°+1(7 +3)°. 1078,

7 Use properties of exponents to write an
equivalerit expression for (9°)°.

't Find the missing. exponent. Explain,

3 Usé probeﬁies of exponen,ts towritean

9

C . 137 -
equivalent expression for PP

) EO Use propertles of exponents to wnte an

equivalent expressxon for 112, 115
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Select all correct answers.. 2

eLQ Suppose two parallel hnes are cut,

by a transversal. What angle
Gy mlat;@nshlpswelesenbe»c@ngruen‘ s
l7 In the ﬁgure, AB ” CD. Find the measure of ZGEB. L ang{es m thlS Context‘?

@ Correspondmg ‘angles.
®. Linear pair *

@ Same-side mtenor angles
> Same-side exierior angles’
®& Al:térnatéué?étérior angles
® Alteméte interibr angles .




r 2| Sethis. designing a symmetncai logo for L The rectangle. 'shown is translated 6 units
'hls ‘store. He draws, half of the logo, which to the left. Which ordered’ patr is NOT a
is, shown in the second quadrant below. - vertex of the image?. "~
He thien reﬂects that half of the logo Ty
across the y—axxs to fi msh it. Wthh angle 6+

in the reﬂectlon has the same measure

ny
4

as éA" ~
S Ty . .. 0 esens
AT 6 B: - : : : '
. K A . 3 -
Y WL il o T
. _ J'G . . . 4.k
/- D - *% ¥ * -
B hthe e ¥ 6 X 5
4 ® 2.-2)
- ® 10,5
© (-5,-2) -
@(—51 5) *

0. Figure B is the image of figure A under

\what transformation? 2S Pomt Als located at (5 —-5) “and point B
- S FY . . is located at (0, -5). AB is rotated
e G S counterclockwise 90° about the.origin.
. /\5 What are the coordinates-of points A”and
A / “s,\ B’, the images of points A and B after the
= ‘rotation?, .
-B : - p : 5 X
BN .
N
7

2(, Inthe triangle, m21 =42°and - -
| M4 =81° Whatis mz2?

5 Wthh set of angles does NOT form a
triangle?

@ 85°, 43°, and 52°
® 90°, 37°, and 51°
© 37°, 65°, and 78°
@ 120°, 12°, dnd 48°




21 What is the tinknown side length

to the nearest tenth of a meter in the 20

triangle shown? _ The s:ze of a computer screen'is

: : S . : measured along the diagonal. What is the .
approximate size, measured to the
néarest inch, of a 12 in. by 10.5 in.
computer screen?

t *

9% Every momlng, Cho rides his bxcycle from 2) Wﬁat ig lthe epproximate -le‘ngth' of the

his house to the park and thien back to his diagonal from point A to point B in the
house. He takes the'same route in both right rectangular prism shown? Round
directions: .ti.ls.__..r.gu.t_e is.shown on the your answer to the nearest centimeter.
coordinate plane, where each unit T ,
represents 1 mile. How far does Cho ride L A
every mornmg’? Round to the nearest . /? .
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- 3% Which measurements, rounded to the .
hearest tenth of a yard, are the lengths of
.a dlagona! of the right rectangu!ar prisin

or any dlagonal of a face of the prism?
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Whlch measurements rounded to the :":llj} N
nearest: tenth of a yard, are the unknown =

the figure shown'? T =
B T

. Find the penmeter of the square shown 37 Fmd the Iength Of AB m AABC shown‘
Roun d to the nearest tenth on the ooordmate plane Round to the
nearest umt
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Two flag poles in front of the Court House are 12 ft tall. The distance from the top of one pole to the base of
the other as shown in the diagram is 20 ft. What is the distance between the two flag poles?

0 R

20 feet ™. 12 fect
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“¥ What is the volume of the cone with the
given dimensions? Use 3.14 for . .

*Round your answer fo the nearest tenth

of a cubic moh

o What is the formula forthe volume of a
sphere with dlameter da?

LY Stefan is maklng a two-tler cake in the
i

Ashape shiown. The diameter of the bottom -
cylindrical tier is 8in., and the diameter of
the top cylindrical tier is 5 in. Which
measurements are the volumes of each
tier and the entire cake? Use 3.14 for m.

“Round to the hearest cubic inch.
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i A cyllndrioal soup cafi has a height of

&2 What is the ratio of the volumes of a
cylinder and a cone having the same
base radius r and height h?

@ The volume of a cone is 3 times the
- volume of a cylinder.-.

. The volume of a cyllnder is 3 tlmes
_the volume of a cone

@ The’ volume of & Cylmder is —1— tlmes

2.
the volume of the ' soup can? Use 3. 14
for 7. Round‘to the nearest tenth ofa
cubic inch.

h s ._J_) H
(OD mol’fl'lffe choice queBhons o the exam,

| A e
3==inrand adiameteror 4—5 i What ls

- the volume of a cone.

, @ The volumes of a cylinder and a cone
are equal.

45 A'ball has a radius of 8 cm. What is the
-volume.of the ball? Use 3.14 for z, Round
to the nearest tenth of a cubic centimeter,
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